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ACCOUNTANCY

For New Course Students

Full Marks : 80

Pass Marks : 24

For Old Course Students in lieu of Project works
Full Marks : 100
Pass Marks : 30

Those who appeared H S Final Exam till 2023
have been treated as Old Course students

Time : Three hours

The figures in the margin indicate full marks
for the questions.

For New Course :

Q. NO. 1 (B) covrervnrsssssescssstrsensessenssissnnsesssssssnssssssassassssssses 1x4 = 4
1 (D) ceeevcurrersrnrsnsnsnsssssnnsnsssncscsssasassnssssssessssssasassossess 1x2 2
T {€) suersmsassessasosorssncnsasssesessasissssnsnssonssaronensissgassaraassnss 1x2 = 2
Q. Nos. 2-7 carry 2 MArks €aclt .................c.cococvmriereeen 2x6 = 12
Q. Nos. 8-11 carry 3 marks eacl ...................cocoocemrreinens 3x4 = 12
Q. Nos. 12-15 carry 6 marks eacly ....................coowweerereeee 6x4 = 24
Q. Nos. 16-18 carry 8 marks eacli ...................coooeeeize §x3 = 24
Total = 80

For Old Course (in_lieu of Project Works)
Q. No. 19 carries 5 marks eaclt (amy four) ...z 5x4= 20

Total =100
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(a) Fill in the blanks Wit

(b)

T ACOU

Toige S

()

(i)

(iii)

()

(v)

p appropriate word/words : (any four)

1x4=4
S g eR (R 5oy
Partners current sccounts are prepared when the capital
accounts are ___—

w@fiﬁqﬂ}/{ﬁﬁ{%ﬁﬂwmﬁmﬁmw@l

as a separate entity apart from its

Company h
members.

Wﬁa@zmm?&ée )| ﬁ%ﬁﬂ—@ A |

Current ratio is the relationship between current assets

and

FEE SEATE SEE TS T T A>ET I |

Equity shareholders are of a company.

FAEAT g £ @A =
At the time of dissolution of partnership firm, assets are

transferred to Realisation Account at value.

Al efevm o e AfonE EOE R

TVC T R T |

State whether the following statements are ‘True’ or ‘False’:

TR TERR ‘€T @ T T

M

(i)

1x2=2

Debeptureholders do not haye right to vote in the
meetings of the company. ‘

AGATLEE AT (FA W Tes
(T W(L/WIE WWWW P |

Premium for goodwil js shared in gaining ratio.

TR AT o Ao o
; TS T s 0 g

2]

2.

()

Choose the correct alternative :

172=2

w7 B! A 1 2

(i

(il

The portion of the authorised capital which is offered to
the public for sale in the form of shares is called

wrAlfis AR (0 I TR ST S FE A
SNCGIET 2, OIF (PRl 2T
(a) subscribed capital
Afsuss A
(b) issued capifal
Rferpe
(c) called-up capital
©AR T
(d) paid-up capital
TAFS T

In the absence of partnership deed, the rate of interest
allowed on partner’s capital is

ST pRe SR, TEAIRE T o 9 <1 A T (TR
(@) 6%

(b) 5%
(c) 6.5%
(d) ‘None of the above
@9 OIS W
What is meant by re-issue of forfeited shares? 2
e oo A RERRE W e @
Contd.
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3. Write any two demeri i
SR TR R 1 el TR

4. Mention two features of de
Qeeiae 7 R erE

OR/ 7T

Write the meaning of «Cash flow from investing activities’, 2
BRI SRR ok @3 T ¢ SWRT sl ol |

5. Give two circumstances under which the fixed capitals of partners
may change. 2

iR e e e e 23 1 107 SRS e =)
OR/ %!

Why is Profit and Loss Adjustment Account prepared ? 2
-GN AT 1 51 wFe W 22
6. What is meant by ‘calls-in-advance’ ? 2

Mention two limitations of financial statement analysis. 2
e eferams Rosaem 75 Smrmel Sz < |

OR/ rzq

What i .
is meant by the term cash equivalents’ ? 2
R TG MCGR BRI 75 7

8.  Write three situations wh

dissolved. N a partnership firm is compulsorily
3
w\xﬁﬁwmmmwﬁ . & |
f’) 7 %i
34T ACOU 4 |

ts of pxrmcrslup business, 5

benture. 2

10.

11.

Give any three items that can be shown under the heading
‘Reserves and Surplus’ in a company’s Balance Sheet. 3

e painict TGerqo TS ’?If’s? B2IRd 7(\./;71‘""1-!( farzem =Zee AR @
FRizrict fofo! aa Tra a1

OR / 7ifzat

Name any three items of current assets. 3

iz folb) bfets rifes aim favan

Current liabilities of a company are % 3,50,000. Its current ratio is
3:1 and liquid ratio is 1.75: 1. Calculate the current assets and
liquid assets. 3

B @I SFTe AR AR 2 3,50,0001 I FEARTR 5ETS SWers
3:1 Oi% O SO 1.75: 1 T4, b FifE Wi o AT oFme fea
Ealll

OR/ 7z
Mention any three objectives of preparing comparative statement. 3
PENETS A ARSI R oMo Sl Srad 31 |

OR / 7&Jt

What is computerised accounting system ? 3

FToRFe @RI safe Wi e

A and B are partners sharing profits and losses equally. They have
admitted C into the firm. A has surrendered 1/3 of his share and
B has surrendered 1/6 of his share in favour of C. Ascertain the
new profit sharing ratio. 3
A S B qER SR W (ST I Fro-ERe S a1 | (SETEE
CT g ST BB AT A-@ ey W@ 1/3 WE B-(H (P6T TR
1/6 Sigsl C (31 &9yl IRE | T wire 3% Seire et
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OR/ 7RI

Expl ) brief the ‘average profit method” of goodwill valuation. 3

Xp aimn 11 - o~

N T T T o (7 T IR A
OR/ 7&I

i s of using g s.
Write three advantages of using graph 3

== TR ey R B

12. Prepare a Commonsiz¢ Income Statement of Maina Ltd. from the

following informauons : 6

W:mwﬁw%ﬁ?‘mﬁmmwmmw

[ Partculers 2022 2023

L (Be=e) ®) ®)

| Sales (R&) 1,05,000 |1,10,000

‘ Sales Returns (&7 &&=e) 5,000 10,000

‘i Cost of Goods Sold (R& 77 Wad agey) 70,000 74,800

I Office Expenses (FRIFR 45) 3,000 3,200

| Non-operating Incomes (T2r7f7= @) 5,000 6,600
Non-operating Expenses (97@3fzx 45 ) 1,000 1,100
Income Tax Rate (¥A3<4 gz 50% 50%

34T ACOU 6)

13.

OR / #Z4
Explain in brief the tools of financial analysis.

8 s SfEATE BT el
OR / &

Explain the concepts of ‘data validation’ and ‘data verification’. 6

S5 (SRTTE iR bl (SR HECTEEs] el 41 |

Give Journal entries in the books of Pakhi Ltd. for issue of

debentures under the following situations : 1+1+1+1+2=6

oot fral SRETE AN iR e F8rs Welefga e e FE =% T e
(a) Issued 5,000, 8% debentures of T 100 each at par redeemable

at 5% premium after 4 years.

5,00051 100 SRl 8% weisig FwgRe [&F @ T 4 T2 |

wfige AR |

ZE 5%

(b) Issued 6,000, 9% debentures of 2 100 each at 3% premium,
redeemable at par after 4 years.
o o= [ 4 9= B

6,00061 100 GFRI 9% weiwg 59, wrmTe [

L9 AR |

Contd.
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@)

(e)

-eQ - . 50/, ‘q
Issued 7.000, 10% debentures of * 100 each at 5% discount,

redeemable at par after 4 years.

7.000% 100 T 10% I 5% WM R =@ R 4 == P
e ARG |

Issued 8,000, 10% debentures of 2100 each at 5% premium,
redeemable at 10% premium after 4 years.

8,000 100 3T 10% @ 5% RIS R s R 4 3= Poree
10% wRERT AR T

Issued 5,000, 9% debentures of ¥ 100 each to the vendors for
purchasing a machinery of ¥ 5,00,000.

5,00,000 5% TE=e T 77 Rl 5,00061 100 BHHI 9% eiid

R ==

OR/ @&t

Give six points of distinctions between a share and a debenture.

6
WHAE TR 2NN TTE 4 55 2 |
OR/ 774t
Explain the applications of Spreadgheet in Accounting. 6

IEE=TE ‘Spreadsheet’= a7z

34T ACOU

E el = |

[8)

14. Susanta, Ananta and Diganta were in partnership sharing profits

and

losses in the ratio of 3:2:1. On 1.1.2023. Susanta retires

from the firm. On that date Balance Sheet of the firm was as

follows :

RigIcA

6

WG S [T 321 1 TWATCS #HAS- GRS oAl g7 2ioaE

SoME SifaT | 1. 1. 2023 S €92 a7 44 T@eA 7m | (57 a9
5B Tape-oigan wre firl @@ e |

Balance Sheet (¥5g-71@)

Liabilities ((7#1) S Assets (7(%) 3
Creditors (#I€amId) 50,000 | Cash at Bank (@%2 3¥) 6,000
Reserve Fund (7% %) | 60,000 | Debtors () 1,50,000
Capital (%) Stock (¥F%) 30,000
Susanta = 80,000 Furniture (¥59%) 24,000
(1) Land and Building (3% =% =) 80,000
Ananta = 60,000
(SFT3)
Diganta = 40,000 |1,80,000
(For)
2,90,000 12,90.000
— B —
The terms of the retirement were :
SRR R I ¢
(i) Goodwill of the firm were valued at ¥1,20,000

(i)

(iii)

34T ACOU

ARSI IR FORE 1,20,000 5@ =71 22

Land and Building to be appreciated by 2 20,000

¥ W ©3 20,000 B I R =sy

Provision for Bad Debts to be made @ 270 on debtors

MR GO 2% SHERTR el a7 ey 9 LY

[9] Contd




Liarbilitiésr (7.’7;";)7 3 | Assets (77ff@) 2

f Capitals (477 Q“—i‘“umiturc (Tam) | 16,000
| Ravi (2 17,500 Investment (R | 4,000
| Vicky (&) 10,000 Debtors (Gmi4) | 2,000
l Creditors (7{<ml4) ‘ 2,000 Stock (W179) 3,000
! Profit and Loss A/« 1500 Cash at Bank 6,000
| (#re-czifamm f2oie) ; (e o)

J 31,000 31,000

. ~d 3 4,000

(iv) Furniture to be depreciated by

- oy A7 B2
i eo@e 4,000 BA BT KR A L9
N , ot nsf » his Loan Account

(v) Susanta’s capital i1s 10 D¢ transferred s

- =y o xS Ferid 24 ¥ 2
TR TaH (Te w9 T SR Lt

Give Journal entries relating to the above transactions.

ToRrE (R R A v =R%
OR / %=

Explain how the amount due to a deceased partner is ascertained 2 6

GE YE T wwEdT s A T FaEd w4 2 ada =

Distinguish between dissolution of partnership and dissolution of

firm. 6
Tl e weETe TR TE e A9HEE SEHEE e Aldrar [ |
OR / 7Zal

Ravi and Vicky are partners in a firm sharing profits and losses in
the ratio of 3:2. Thev decided to dissolve their firm on 31st
December, 2022, Their Balance Sheet on that date was as under :
7 T 7 3.2 TawTTE T TR (EEDH 9% Tl Bl I SRAMA |
T (SR AR SR RIS 79 | (R
e T gaem e 2

‘Balance Sheet (T5¢-7)

34T ACOU [10]

Ravi took gver the investments at an apreed value of 37 400, Othey
ansels were realised as follows

Fuarniture 715,000

Debtors — 90% of Book value

Stock 772,600

Creditors of the firm agreed (o accept 57, less FBapenses of
realisation amounted to 2400, Close the [irm's books by prepaning
a Realisation Account, Partners’ Capital Accounts and Bank
Account. [

afar 3,800 bl G e ey e ffacmes e aa | e v oo
A4 WM 44 2

G4 — 18,000 57

FAME — A2 90%

qTGY — 2,800 Gl
AAEE A SHAMEATE 5% T A% FfqarA 7 ue = T @5 400
5 | JemEaA f2biel, wmEE e T wm e e wws o
A bR AZPTz 9% F41|

16. Anvi Ltd. has issued 10,000 equity shares of 210 cuch at a
premium of 22 each payable as follows : &

On Application — 22
On Allotment - 5 (including premium)
On First and Final Call - 25
The shares have been fully subscribed, called up and paid-up
except the following :
(@) Allotment and First and Final Call money on 500 shares held
by Ritu, and
(b) First and Final Call money on 600 shares held by Jitu
All these shares have been forfeited and re-issued at 10%0 discount
as fully paid.
Give Journal entries in the books of the company.

3T ACOU (1] Contd.



: ool ST 2w RARCI D EIO)
e 210 000 @k v Aledd 2 B ol
Anvi fafarbre 10,

AH ArA WA T

are offarmy afaa @ifod o

Al A HITE 2 5
AT A HTE 5 Ban (winvea (L)
Aow A FEE TeRR A - 5 bW

ewareas Aa sdars ese La IYAA e aa) v i A Wil

s A fu AA AT we WM oAl 9l

(a) SO0 == wrewaa wa Ay A AR e R B A R S IO AU

(b) 6O W mrsa A foga SAa) SAlaealla) e A puls weaq we

% Far weed s AT A L A 1 0% (A9% A Hepel gy foniea

(e 28y wran At S

OR / AilZ41

(a)  For what purposes wocuntics preminn’ can be used ? 5

Al wfna (2l Lraeln ajaoa afaq Al

(b)  Write three distinctions between equity share and preference

2]
shire B

A €

w4 wlinaia e A a'q wiw e Y ool Al Sl

OR / -Ifea]

What are the steps mvolved g nstallation  of - compulterised
Accounting system (CAS) 7 "

I R R R P R Ll A X

WL ACON

Mihir (fafea) = 70,000

(Il Sl AT )

7. Mihir and Karan are partners in a firm sharing profits in the ratio
ol 312, 0n April 1, 2022 their Balance Sheet was as under -
S34542-8
fufa Sl el 3 2 Slef 19 S AAlS Al el Al i daa ) | s, 2002
Wl (heataian bya Aqd o s faaliq uca wifr
Balance Sheet (L%447)
Liabilitics () J Assets ({5 l }
|
Sundry Creditors £5,000 Bank (17) \ 10,000 |
(fafas wetia) Stock (474) | 22,000 | ‘
Capitals (3«#) : Plant and Machinery \ 40, r)()()
1

Karan (444) = 60,000 1,30,000

M ACOU [ 1]

TAAIG 0[f96 (DErElen wers Bepa a4l bz fofa

Building (=d41) 1,00, ()U()

Goodwill (3elal)

\[ 2(),000 |
Debtors (Guibi) 24 [JlJ‘Ji ‘
Less @ Provision (4¢47) 1 (mu | 23,000
2,15,000 2,18 mou

On the above date

, they admitted ‘Sunil as a new partner on lhn
following, terms

58 Fel [T el WAl
fableA of§ afdce o

(i) Sunil will bring 2 50,000 for his capital
Al (B 3ertla Al 50,000 Bl wiffia |

(i) He would pet 1/5th share in the future profits.
(b wfaape drod /5 s dle afa )

(iii) - Goodwill ol the firm is valued at 2 1,20,000
ARG 2l 1,20,000 GBI etz a4f 24

(iv) Sunil will bring necessary premium  tor poodwill
Afelleat AU i R @i

Pass Journal entvies to record  the

above transaction. Prepare
Partner’s Capital Accounts and Balance Sheet of the new firm
w1 (el Tl <l i ezt @R b sl s

I
el OBl ©gE Aauld Vg Gl

Conhl.




1) Drstimgish between Profit and | ’

OR / &4

Hss Account and Profit and
W)

Loss Appropriation Acc ount

Cyy. 12
o~ (A 212

gl ol (le srea s

. !
() Mention any three nehits ol a partnel

]

wdA GGeA [

(

14 Biswa and Pradip are partners an a firm

vifraia ToEe 441

The Trial Balance of the firm

s on 31st December, 2022 was as under :

G i, 21 co oo w31 furbaa, 2022 wifare Af el TG4

fuzia o{gen waa wrd WIeE

Trial Balance (¥5¢ fi@m7@)

Debit (%
Drawings (%2
Piswa (7% 4,000
Pradip (07 3.000

Cash a1 Bank (7% ¥«

Sundry Debtors (%2 @)
Insurance (7%
Advertisement (727 )

‘ Closing Stock (7 EEp

Cash n hand (7 &
| A—

Commission (Z57%)

| Motor Car (37 712))

Machinery (T947%)

7,000

15,000
40,500
19,740

9,000
12,500
16,300

5,000
20,860

10,000

i

LD 90 1,85,900

Credit ((%feh) bl

‘ Capital (%) -
| Biswas (%) — 65,000
| Ppradip (4l4) — 40,000 |1,05,000
|
“ Sundry Creditors (Ff Aleiie) | 18,400
| Bank Loan ((44 (k) 5,000
i Commission (#fitz) 300

Trading Afc (Gross Profi() 57,200

Prepare Profit and Loss Account, Profit and Loss Appropriation
Account and the Balance Sheet of the firm for the year ended 31st
December, 2022 after considering the following information :
s S waprg oy w4 51 upa, 2022 GG S 4984 A de-
AL b, ArS H AT T e Tga Add 489 el g
(a) Partners are o sharc profits and losses in the proportion of
";/f’) and 2/5 respectively,
UAWMIAARTA Ay AL i 3)5 U4 25 99 GillE @)

T ACOU
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(h)

()

Write off depreciation (@, 10% on Machinery and 20% on Motor
Car.

WA oA @nas 0% i A5 9l 1A SA4s 20, e A Al e

Create a provision of 5% on Sundry Debtors for Doubtful
Debts.

fafan (reliiad eaq4s Fiewe s A A 5, Sy aag @A T

(d) Partners arc entitled to Interest on Capital @ 5% per annum
and Pradip is cntitled to a salary of 7 1,800 per annum,
AR %A 5% TAS Y%A 2o 5 #ATS A WA Aalm a3
1,800 Geitas velz] faal =41

For Old Course : (in lieu of Project Works)
19. Answer the. following questions : (any four) 544=20
wets fadl ez Gea ¢ (gt sifasr)

(a) Write distinctions between Fixed Capital Account and
Fluctuating Capital Account.

o @ fopra Wi wifga s fasiem arers o snefa

(b) What is Ratio Analysis ? Mention any three limitations of ratio
analysis.

s facsze 6 ¢ Sl fareaea R foms Armael T i

(c) Explain uses of Financial Statement.

{8 aiferawra apza A <= |

(d) What is meant by Cash Flow Statement? Mention any three
objectives of preparing cash flow statement.
olng ddizd dfotave gfertet & qol ¢ aowan wama 2fem oEe w@E
Ricstcar [ofibt sy Srad @i |

(e) Explain the average profit method of valuation of goodwill.

T ACOU

What is Revaluation Account ?

SR SR 1S @ile wAqforh] Qe e | e v e o

N

[15]
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